
 

 

 



 

 



 

 



 

 

 

program zadanie1; 
var 
  a:array[1..10] of string; 
  i,j,n,v:integer; 
  q:string; 
  b:array[1..10] of integer; 
begin 
  a[1]:='Гном Вася'; 



  a[2]:='Дюймовочка'; 
  a[3]:='Серый волк'; 
  a[4]:='Маленький мук'; 
  a[5]:='Мальчик-с-пальчик'; 
  a[6]:='Кот'; 
  a[7]:='Лиса'; 
  a[8]:='Серенький козлик'; 
  readln(n); 
  for i:=1 to n do 
  begin 
    readln(q); 
    for j:=1 to 8 do 
      if q=a[j] then b[j]:=b[j]+1; 
  end; 
  for j:=1 to 8 do 
    for i:=1 to 8 do 
    if b[i]<b[i+1] then  
    begin 
      v:=b[i+1]; 
      b[i+1]:=b[i]; 
      b[i]:=v; 
      q:=a[i+1]; 
      a[i+1]:=a[i]; 
      a[i]:=q; 
    end; 
    writeln('результат:'); 
    for i:=1 to 8 do 
      begin 
      if b[i]>0 then write(a[i],' ',b[i]); 
      writeln; 
      end; 
end. 


